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I. Diffraction:

Distance from slit to screen: L=__ G- 3§ m.

Locations of Intensity Minima
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a. Estimate the average value of A (show a sample calculation) and its rms error.
Compare to the literature value of the wavelength of laser and comment.
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b. Describe qualitatively what you would see if you use a white light instead of a |aser.
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¢. Based on your observations, what happens to the diffraction pattern as the aperture
becomes larger.
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II. Interference:

Distance from slit to screen: L= 2 .

P, m.

Separations between Adjacent Bright Fringes

| Slit width a =0.04 mm, slit separation d=0.5 mm
Fringe Length #of Y= distance between | Wavelength A (nm)
Order e s maxima adjacent bright
fringes
| Central | 2010 25 16 x10 . £33, L
I order . . e b oxe —“ 9L 7
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Estimate the wavelength of the laser and its rms error. Compare to the literature value and
comment. ~ f
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/ Questions

1. Explain how the slit width affects the value of X ?
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2. According to your results does the distance between maxima increase, decrease or
stay the same when the slit separation is increased?
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By what percentage, would the separation between two adjacent fringes change if
the experiment is performed using an Af -laser emitting at 5. 14 nm?
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